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Note : Answer questions from all the Sections as

directed.

Section—A
Note : Answer any two questions from this Section.

2x20=40

1. Discuss the common econometric problems

faced in regression analysis.

2. Describe the Ramsey’s test for the identification
of ‘omitted variables’ and ‘incorrect functional

form’.

P.T.O.



3.
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Explain why the OLS method of estimation is
not applicable in the case of ‘binary dependent

variable models’.

Describe the estimation procedure in the

‘indirect least squared (ILS)’ method.

Section—B

Note : Answer any four questions from this Section.

10.

4x12=48

Distinguish between the concepts of ‘self-

selection and ‘endogeneity’.

Describe Hausman’s ‘model selection

procedure’.

Outline with 1illustrations how the ‘basic

functions’ can be performed in Eviews.

Outline the procedure for testing single and

joint hyposthesis in STATA.

Write a note on the ‘useful indicators’ in a

regression output.

Outline the factors that contribute to the ‘Lag

effect’ in Economics.
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11. Show that ‘exact identification’ is a sufficient
condition for a system of equations to be

uniquely determined.

Section—C

12. Write short notes on any two of the following in

about 100-150 words each : 2x6=12
(a) Pooled Cross Section Data

(b) Chow Text

(¢) Adjusted-R2

(d) Schwarz Information Criterion

P.T.O.
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